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1. Most industrial methods have supplanted individual crafts,  stonecarvers, coopers, and
cobblers virtually extinct.
(A) making them blacksmiths
(B) making blacksmith,
(C) make blacksmiths
(D) make blacksmith
2. A few elements existin ___ that they are rarely seen in their natural environment.
(A) small quantity
(B) very small quantities
(C) so small quantities

(D) such small quantities



3. onthe environment for the gratification of its needs.
(A) Many organisms can depend
(B) All organisms depending
(C) Every organism depends
(D) Each organism to depend
4. Of Charles Dickens’ many novels, Green Expectations is perhaps  to many readers.
(A) the more satisfying than
(B) more than satisfying one
(C) most satisfying one
(D) the most satisfying one
5. In preparation of fibrous materials for production uses, stiff woody fibers from plants
___fibers from animal sources.
(A) than more head needed
(B) need the more heat than
(C) need more heat than
(D) the most heat the
6. that increasing numbers of compact-disc players will be bought by consumers in the
years to come.
(A) They are anticipated
(B) In anticipation
(C) It is anticipated
(D) Anticipating
7. Goddard developed the first rocket to fly faster .
(A)sound (B) thansound (C)thensoundis (D) does sound

8. With new technology, cameras can take pictures of underwater valleys  color.
(A)in (B) for (C)by (D) within
9. Economists around the world have tried to the long-term consequences of the

Russia-Ukraine War on the global economy.
(A) access (B)advocate (C)administer (D) assess
10. It is important to see all the fighting and bloodshed in Shakespeare’s plays in historical

(A) context (B) content (C) contest (D) contract
11. Despite the accumulated evidence of violence in the U.S., the government
in doing little on gun control.
(A) consisted (B) persisted (C) desisted (D) subsisted

12. Despite the impact of COVID-19 on global production, some manufactures have managed

to growth.
(A) contain (B) detain (C) pertain (D) sustain



13. The government passed a law to the sale of assault weapons.
(A) redeem (B)recommend (C)restrict (D) resend

14. With an election approaching, the prime minister is keen to his popularity.
(A) advertise  (B) administer (C) address (D) maintain

15. The law double-parking in this city.
(A) flings (B) prohibits (C)erases (D) facilitates

16. We are conducting a(n) to find out what our customers think of the new

train service.
(A) exam (B)list (C)survey (D) test

17. Farmers and market gardeners have been badly by the extreme weather.
(A) affected (B) effected (C) confected (D) defected
18. The police that the suspect must have left this apartment yesterday
evening.
(A) shall deduct (B) has deducted (C) will have deducted (D) would deduct
19. It is not worthwhile so much time on minor problems.
(A)spend  (B)spent (C)beingspent (D) spending
20. A(n) of charities are coordinating their efforts to distribute food to the regions

affected by the severe snow storms.
(A) amount (B) number (C)team (D) herd

21. two weeks of arrival all foreigners had to register with the local police.
(A) About (B) While (C) Until (D) Within
22. Most residents drive to work. , there is a growing number who ride bikes.

(A) In addition (B) Thus (C) Nevertheless (D) Similarly
23. Children learn primary by the world around them.

(A) experiencing directly of

(B) directly physical experience

(C) experience direct

(D) direct physical experience of



Reading Comprehension

Line (1) Alzheimer’s disease impairs a person’s ability to recall memories, both distant and as
recent as a few hours before. Although there is not yet a cure for the illness, there may be
hope for a cure with a protein called nerve growth factor. The protein is produced by
nerve cells in the same region of the brain where Alzheimer’s occurs. Based on this

(5) relationship, scientists from the University of Lund in Sweden and the University of
California at San Diego designed an experiment to test whether dose of nerve growth
factor could reverse the effects of memory loss caused by Alzheimer’s. Using a group of
rate with impaired memory, the scientists gave half of the rats doses of nerve growth
factors while giving the other half a blood protein as placebo, thus creating a control

(10) group. At the end of the four-week test, the rates given the nerve growth factor performed
equally to rates with normal memory abilities. While the experiments do not show that
nerve growth factor can stop the general process of deterioration caused by Alzheimer’s,
they do show potential as a means to slowing the process significantly.

24.With what topic is this passage mainly concerned?

(A) The use of rats as experimental subject
(B) Cures for Alzheimer’s disease
(C) Impaired memory of patients
(D) Nerve growth factor as a cure for Alzheimer’s.
25.The word “impairs” in line 1 is most similar to which of the following?
(A) Enhance (B) Destroy (C) Affect (D) Diminishes
26.According to the passage, where is nerve growth factor producing in the body?
(A) In the pituitary gland
(B) In nerve cells in the brain
(C) In nerve cells in the spinal column
(D) In red blood cells in the circulatory system
27.Which of the following is closet in meaning to the word “doses” in line 8?
(A) Injections (B) Measures (C) Stipends (D) Pieces
28.Which lines in the passage best describe the effect of nerve growth factor on the test rate?
(A) Lines 2-4 (B) Lines 5-7 (C) Lines 8-11 (D) Lines 12-13
29.Which of the following can be inferred from the passage?
(A) Alzheimer’s disease is deadly.
(B) The experiments did not show any significant benefits from nerve growth factor.
(C) Though unsuccessful, the experiment did show some benefits derived from nerve
growth factor.
(D) More work needs to be done to understand the effects of nerve growth factor.
30.Which of the following is closest in meaning to the word “deterioration” in line 12?
(A) Decline  (B) Disconnection (C) Depression (D) Deduction
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Describe Taiwan’s 2030 Bilingual Policy and discuss the opportunities and challenges of

bilingual education for Taiwan’s primary education.

. Please compare and discuss the differences and similarities of “immersion education” and

“content and Language integrated learning” (CLIL) (including their origins, definition,
teaching objectives and characteristics). Please also explain which approach do you prefer.
Use one specific grade level and subject areas to explain how you would implement it into

your classes.

. Present a lesson you have designed for Taiwan’s elementary classrooms. In addition to the

topic of the lesson, you should 1) list the intended learning outcomes, 2) describe your

teaching process and activities, and 3) explain how you will assess students’ performance.

. Please define the meaning and teaching principles of “scaffolding” and” “cooperative

learning.” Please also describe how to implement them to help your students to learn

effectively.



